BypTrasMMH cuctem

TyH ypaxryin Bapnann yncapn "bBapnaHosack” HOpTal WUHS U-MEANWIAH CUCTEM HIBTP3AX rax baiHa. CucTeMuiiH
aLMVHUCTPATOP Hb CUCTEM33 anb BONOX XypAaH awur nantaHh opyynaxbiH TyNn4 TaHaac TyCnamx Xycuas. TaHn

CanTbiH OYPTraNUAH XaCTUIAM XX XYCANT UpCcaH Bereen napaax Wwaapanaryyn TaBurgax Oairaa tom:

WnHa xaparnary cuctemM BYpTryynax yeass Hap 60NoxX name racaH XYCanT unraax 6ereen yr Hap cuctemp
6aiixryi 6on WrHIsp HAMar fax, "OK" rax xapuynt aBy, 6YpPTran amXxunttain 607H0. XapBaa name X3 4WiHI3
cuctemn 6ypTraracaH b6aiBan cucteM name 03sp cuctempn 6aixryii xamriiH aXHWUiA | TOOH epreTren 3anrax,

cuctemp 6ypTtrax asHa (Toonyyp 1-3ac axanHa). Xuwas Hb namel, name2...
Input

OXHWit MOPBH, CUCTEML NIT33CaH XYCANTUIH Too Bonox  ( 1<=n<=10°). Mapaaruitt Mep 6ypT 32-C XaTPaxXryii
ypTTal naTuH LaraaH TONrOMH XMXUr ycrasc 6ypasx Xycantyyn baiHa.

Output

CapanTt Hb N Mepeec TorTox 6ereen XapBaa XyCanT amxuntran 6oncoH 6on "OK" racaH xapuyr xaBNaH3. X3pBaa
XYCANTUiAH Hap By pTranTtaii baricaH 601 6YPTraX aBcaH WUHS HIPUIAT X3BNSHS.

Example

Input 1:

4
abacaba
acaba
abacaba
acab

Output 1:

OK
OK
abacaba1
OK

Input 2:

6

first
first
second
second
third
third

Output 2:

OK
first1
OK



second1
OK
third1
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